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2. Students’ Overall Performance of Participating Schools in Each
Sub-paper and Dimension in GU 2022 Mathematics

Each student attempted one of the four Mathematics sub-papers. As some assessment items in the
‘pen-and-paper mode cannot be presented in the online mode. and the presentation of answers of
certain assessment items is different from the online mode, the duration of each sub-paper was 50
minutes for STAE online mode, and 63 mimtes for pen-and-paper mode. Table 1 and Figure 1
show the overall performance of Secondary 3 students taking the 2022 Mathematics assessment in
each sub-paper and dimension.

Table 1 Overall Comect Percentage of Participating Schools in Each Sub-paper and Dimenszion
T Overall Correct Percentage of Participating Schoals (%)
Paper ondl oaM2 OM3* M4+
Mumber and Algebra &0 60 60 60
(heasures, Shape and Space 60 60 60 60
Data Handling 60 60 60 60

E 1 Overall Correct Percentage of Participating Schools i Each Dimension

100%

3. General Observations on Students’ Overall Perfo

Dimension in GU 2022 Mathematics

3.1 Number and Algebra Dimension

PR

The performance of students was acceptable in this dimension. Among the leaming units, they
performed well in directed numbers and the number line. Their performance was satisfactory
linear inequalities in one unknown. However, there was room for improvement in numerical
estimation, using percentages, identities and formulas. Special attention should be paid to getting
approximate value according to the context of a question and the skill of identifying the subject in
formmlas when performing change of subject in simple formulas.

The performances of students in the learming units of Number and Algebra dimension are as
follows:

EBEBUE

2074

il

2%
61%
0% 0%
50%
40%
30%
20%
10%

0%
Mumber and Algebra MMeasures, Shape and Diata Handling
Space

Overall Comect Percemtage of Participating Schools

Femark: ' The “Owerall correct percenmge of participating schools™ refers to the comect percentage of all items
attempted in the sub-paper by smdents of all participating schools. The percentage is caloulated using
weighting factors in simulating a distribution representing all schools in Hong Eong after considering the
various arrangements for the GU 2022,

* Given the assessment on the STAF. platform is online-based, the presentation of certin assessment items
and of ancwers may be slightly different from thoss in the printed version diswributed to schools, but those
differences should not affect smadents” understanding and answering of said assessment items.
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MNumber and | *  Directed Numbers and the Number Line: Stadents performed well in handbng
Number simple operation of directed numbers and demonstrating recogmition of the
Systems ordering of integers on the number line. Many students were able to use

directed numbers to describe average temperature.

*  MNumerical Estimation: Quite a number of students were able to judge the
reasonableness of answers from computations and determine whether to
estimate or to compute the exact value in a simple context. However, their
performance was weak in estimating the values with reasonable justifications
according to the question. They need more practise in using rounding up as the
mean of gethng approximate value so that there 1s improvement in this area.

*  Approxmation and Errors: Many students were capable of rounding off a
mumber to a certain number of 2 decimal places or 1 sigmficant figure. Chute
a mmber of students could comvert a mumber in scientific notation to a
decimal. However, a considerable mumber of them could not represent a large
mumber in scientific notation.

+  FRational and brational Numbers: Quite 2 number of students were able to
demonstrate Tecogmition of the integral part of v . Half of them could
represent a proper fraction mumber on a nmumber line.

Using Percentages: Chute a mumber of students were able to solve problems on
simple interest and growths. Half of them were able to solve simple problems
on compound interest. Nevertheless, their performance in solving problems on
simple selling was not satisfactory.

Companng |
Cuantities

*  Fate and Ratio: Many students were able to find the other quantity from a
given ratio. Churte a number of them were capable of demonstrating recognifion
of the difference between rate and ratio. Almost half of them could use rate to
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